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Top Chrono entrainement - CE2

Multiplier par 10, 100 ou 1 000

x 10 = _ 59 x 100 =
x 100 = 37 x 100 =
x 10 = _ 75 x 10 =
x 100 = 60 x 10 =
x 10 = 36 x 100 =
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Top Chrono entrainement - CE2 - CORRECTION

Multiplier par 10, 100 ou 1 000

0 = 10 96 x 10 = 960 59 x 100 = 5900 382 «x 10 = 3820
1000 = 3000 88 x 100 = 8800 37 x 100 = 3700 155 x 10 = 1550
100 = 600 68 x 10 = 680 75 x 10 = 750 74 x 10 = 740
1000 = 3000 7 x 100 = 100 60 x 10 = 600 962 x 10 = 9620
100 = 700 462 x 10 = 4620 36 x 100 = 3600 63 x 100 = 6300
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Multiplier par 10, 100 ou 1 000
0 = 10 96 x 10 = 960 59 x 100 = 5900 382 x 10 = 3820
1000 = 3000 88 x 100 = 8800 37 x 100 = 3700 155  x 10 = 1550
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1000 = 3000 88 x 100 = 8800 37 x 100 = 3700 155  x 10 = 1550
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Top Chrono entrainement - CE2 - CORRECTION
Multiplier par 10, 100 ou 1 000
0 = 10 9 x 10 = 960 59 x 100 = 5900 382 x 10 = 3820
1000 = 3000 88 x 100 = 8800 37 x 100 = 3700 /5 x 10 = 1550
100 = 600 68 x 10 = 680 75 x 10 = 750 74 x 10 = 740
1000 = 3000 1 x 100 = 100 60 x 10 = 600 962 «x 10 = 9620
100 = 700 462 x 10 = 4620 36 x 100 = 3600 63 x 100 = 6300
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1000 = 3000 1 x 100 = 100 60 x 10 = 600 962 «x 10 = 9620
100 = 700 462 x 10 = 4620 36 x 100 = 3600 63 x 100 = 6300
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